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optimal colour: white W, A=400 ,

Ostwaldcolour: blue B, A=
ROV

standard reflection, Rq=0,036,R=0,900
5 \2=700 Ag=570
triangle lightness  T*Tup

0 500 600
wavelengthA /nm

standard reflection, Ry=0,036,Ry=0,900
0

triangle lightness  T*1us

standard reflection, R,=0,036,R,=0,900
0 A5=495 \g=470
triangle ightness 1" Tup

R(A) standard reflection, R,=0,036,R,=0,900
Ostwaldcolour: red R, =570 , 0 Ag=595
triangle ightness 1" 1ug
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Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: green G,\1=470 A,=570 \¢=520
triangle lightness  T*Tug
6,00
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1,001
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R(A) standard reflection, Ry=0,036,R4=0,900
Ostwaldcolour: magenta M, ;=570 ,A;=470 ,A4=520¢c
ROV triangle lightness T+ us
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0,50

(7 (A)/0,18 relative reflection
Ostwaldcolour: cyan C,A;=400 A,=570 ,A4=495
triangle lightness  T*1ug

Ostwaldcolour: yellow Y, A
R(A)

R()) standard reflection, Ry
Ostwaldcolour: green G,A;=470 A;=570 A¢=520
R(N)

1,001

=0,036,Ry=0,900

wangle lightness T+ 1ug

standard reflection, R,=0,036 R,=0,900
5 \2=700 Aq=570
triangle fightness T Tug
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1,001

standard reflection, Rq=0,036,R=0,900

optimal colour: white W, A;=400 .,
R()
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00 500
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=y

standard reflection, Ry=0,036,R,=0,900

Ostwaldcolour: blue B, A;=400 ;=495 \¢=470

triangle lightness 1#1ug

0 500
wavelengthA /nm
DEXa1-oA
with N reflection
standard reflection
6<-R(\)<=0,900

T*rys=40log[R:(A)]/log5

R(A) standard reflection, Ry=0,036,R4=0,900
Ostwaldcolour: red R, A1=570 ,A,=700 A¢=595
R(N) triangle lightness  1* tus
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Rs(A) = log[Rr(M)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: green G,A;=470 A;=570 A¢=520
Ry(A) triangle lightness  T*Tug.
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Ostwaldcolour: magenta M,
R(A)

1,001
0,751
0,504

025¢ ;

0,0

log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: cyan C,A,=400 70 Ag=495

Re(A) triangle lightness  T*tus
0,8

TUB-test chart DEX4;
ReflectionsR(A), R(A)=R(A)/0,18,Rs(A)=log[Rr(A)], triangle lightnes3*1yg, step eRYGCBMw4
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00 500
wavelengthA /nm

o
without N reflection
standard reflection
0,036<=R(\)<=0,900

T*rug=40log[R;(A)]/log5

DEX41-7N

Rr(A) = R(A)/0,18 relative reflection
Ostwaldcolour: yellow Y, ;=495 ;=700 Ag=570
triangle lightness  T*tus

6,00}

(A) =R(1)/0,18 relative reflection
optimal colour: white W, A:=400 A5=700 A¢=—
triangle lightness T*Tug

6,001

00 500
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DEXAL-TA

Rr(M) = R(A)/0,18 relative reflection
Ostwaldcolour: blue B, A1=400 A=495 \¢=470 i

6,001

3,004

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: yellow Y, \=495 A>=700 A¢=570
S triangle lightness  T*Tup

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
optimal colour: white W, A1=400 ,A;=700 A=
Re(\) triangle lightness  T*us
0.8f0.698__
0,
0,04-0.000_ 2

400 500
wavelengthA /nm
A
og[Rr(A)] = log[R(A)/0,18] reflection (log)
Aa=470

RN =
Ostwaldcolour: blue B, A;=400 ,A;=495 =4’
Re(\)

DEXaiba

Wavelength ranges ddsétwaldcolours, and Wn4C=25:1

triangle lightness  T*ug [k

Rr(A) = R(A)/0,18 relative reflection

Ostwaldcolour: red R, A1=570 A2=700 \¢=595 1
Rr(A) triangle lightness  T*Tus
6,00¢ 4.999

3,001
1,004
13

1/6

00 500 600
wavelengthA /nm
DEXAI-IA
Rr(A) =R(A)/0,18 relative reflection
Ostwaldcolour: magenta M, ;=570 A;=470 ,A4=520¢c
triangle lightness  T*rug

6,001

3,001

0 500
wavelengthA /nm

DEXe1-6A
without N reflection
standard reflection
0,036<=R(A)<=0,900
relative reflection
Rr(A\)=R(A)/0,18
T*rus=40logR:(N)]/log5

Rs(A) = log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: red R, A1=570 ,A,=700 A¢=595 '
triangle lightness  T*Tug

0,8

0,4

log[Rr(A)] = log[R(A)/0,18] reflection (log)
Ostwaldcolour: magenta M, \=570 \,=470 A¢=520¢
Rs(A) triangle lightness  T*Tus
0,8 0,698

standard reflection
0,036<=R(\)<=0,900
log[relative reflectio
Ry(\)=I0g[R(1)/0,18]
T*rug=40l0g[R:(A)]/log5
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